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1. B 9] B gal H 69 s@wern § geed 1. The green manuring crop should be

71fRT ? turned at which stage in soil ?
(A) B I W (A) Flowering stage

(B) uRUFEar 89 W (B) Maturity stage

©) foet Fdem ® (C) Tillering stage

(D) 9 ¥ W (D) Seed formation stage

2 MR Pl @ H fodd yfavd BRBRY 2. How much % phosphorus is present in

URIT T R 7 F.Y.M.?
(A) 0.1% (A) 0.1%
(B) 0.5% (B) 0.5%
(C) 0.25% (C) 0.25%
(D) 0.75% (D) 0.75%

3.  HTwel @ Wefl ¥ fhee % T wrm 3. Groundnut cake contains how much % of

ST & 2 nitrogen ?
(A) 7.0% (A) 7.0%
(B) 3.0% (B) 3.0%
(C) 5.0% (C) 5.0%
(D) 10.0% (D) 10.0%

4. PHRS 999 Pl §TAN Ay foaa < 4.  Bangalore method of composting was

off ? given by :

(A) T3 Tl TS (A) Y.D.Wad
(B) AR (B) Sorenson
(C) T. Bare (C) A.Howard
(D) Td. TA. ey (D) L.N.Acharya

AG—-6003 (3) Set-A



ulel v ugall & STURTE uered o Ul @
Y6 ddl & Wd D BY H g 8
g, e & :

(A) @]

(B) SRP

(C) e

(D) URIfAG UNd

e # fooae ufterd Aew) rn S
g ?

(A) 18.6%

(B) 20.5%

(C) 16.5%

(D) 12.5%

M. T TH. B oy © -
(A) SRP

(B) HI«

(C) VIIR®

(D) SHIE W

RAM AT CISS o AW H YISy UI¥d
dd & foas Amevs g 9 ?

(A)
(B)
(©)
(D)

N W B~ ol

AG-6003

(4)

Plants and animals wastes that are used as

source of plant nutrient, is called :

(A) Manure
(B) Fertilizer
(C) Night soil

(D) Primary nutrient

In gypsum, how much % sulphur is

present ?

(A) 18.6%
(B) 20.5%
(C) 16.5%
(D) 12.5%

Components of I. N. M. are :
(A) Fertilizer

(B) Manure

(C) Biofertilizer

(D) All of the above

How many total number of criteria of
essentiality of plant nutrients proposed by

Arnon and Stout ?
(A)
(B)
(€)
(D)

N W B~ ol

Set-A



10.

11.

fgcdiae 3Maead UICy UNe dd diF-al
g7

(A) N
(B) Fe
(C) Cu

(D) S

SRe ¥ e UIYe d@ U S g,
HEA B

(A) TGe TR

(B) WA SIRP

) fla S&R®

(D) THIZS JaRS

fy=forRad & & -1 TEeIoF SdRD
ST Yefy &7 8 & ?

(A) 3FEIfTIE T3ce

(B) HfIH sMifNTd Arsge

(C) 3T FeRTES

(D) IR

AG-6003

(5)

10.

11.

Which is the secondary essential plant

nutrient ?

(A) N
(B) Fe
(C) Cu

(D) S

Fertilizer that contains a single nutrient is

called :

(A) Complex fertilizer

(B) Straight fertilizer

(C) Mixed fertilizer

(D) Amide fertilizer

Which of the following nitrogenous

fertilizer is neutral in nature ?

(A) Ammonium nitrate

(B) Calcium ammonium nitrate

(C) Ammonium chloride

(D) Urea

Set-A



12.

13.

14.

15.

M RE Tewe § fhaq ufaerd Arscro
TR I © P

(A)
(B)
©)
(D)
gal @l fafeer gRRfoal 3§ woe e
B Bl &I Pl DEd §

13%
22%
33.5%
20.6%

ue ¥ Wl I @ AR B G
forer ot off ?

A = fra

(B) dIRTed

(C) T Td. AR

(D) dreve

1112 AT e R L ol T e e B
TTfoRfier gar & ?

CNEREED

(B) TEgISH

(C) ORI

(D) fczr

AG-6003

(6)

12.

13.

14.

15.

Percent of nitrogen present in ammonium

sulphate is :

(A)
(B)
(©)
(D)

13%
22%
33.5%
20.6%

The capacity of soil to produce crop with

specific system of management is called :

(A)
(B)
(®)
(D)

Soil quality
Soil fertility
Soil productivity

Soil health

Who discovered the essentiality of iron in
plant ?

(A) E.Gris

(B) Warrington

(C) A.L.Sommer

(D) Peterson

Which nutrient element is highly mobile

in plant ?

(A) Zinc
(B)
(©)

(D)

Nitrogen
Boron

Calcium

Set-A



16.

17.

18.

19.

frq ove @ o dH b dewr oY
HfcTdT W foxarg 20 8 ?

(A) B
(B) Mo
(C) =M (A) 3R (B)

(D) SWH # | B &l

QY qcd Sl Ml & ol dl I
o &

(A) K

(B) Ca

€ P

(D) Mg

Teciom fy=foRad § 9 foaar aws
gch T ?

(A) qur

(B) facif

(C) PrrEEsT

(D) U

oyl # Afde aedfade fderd dem TN
&1 X fb%T U I gRT Bl © 2

(A) BRBRE
(B) TEgIoH
(C) R
(D) dfeeram

AG-6003

(7)

16.

17.

18.

19.

Which

symptom on terminal bud ?

nutrient  shows  deficiency

(A) B
(B) Mo
(C) Both (A) and (B)

(D)

None of the above

Nutrient element that regulates stomatal

opening :

(A) K
(B) Ca
€) P
(D) Mg

Nitrogen is an essential constituent of the
following :

(A) Fat

(B) Vitamin

(C) Carbohydrate

(D) Protein

Vigorous vegetative growth and dark

green colour in plants impart by which

nutrient ?

(A) Phosphorus
(B) Nitrogen

(©)
(D) Calcium

Potassium

Set-A



20. Yfddd URFS, WIgfcd dAm BRWIfeite  20.  Which element is a constituent of nucleic

T TP dd BT & ? acid, phytin and phospholipid ?

(A) P (A) P
(B) Zn (B) Zn
(C) B (C) B
(D) Cu (D) Cu

21. BRORY JEd: UM & &9 91 @1 gl 21. Phosphorus mainly stimulates the growth

of which part of plant ?

HT gAlATRd BNl & ?

(A) dis (A) Root
(B) oI (B) Shoot
(C) ol (C) Leaf
(D) &d (D) Flower
22. FARIhA $T T U¢h T & - 22. The main constituent element of
chlorophyll is :
(A) Mg (A) Mg
(B) Ca (B) Ca
(C) Mn (C) Mn
(D) S (D) S
23. ﬂlsglﬂwxﬂ U~olTgH &l ATaegdh JdId 2 23. The essential component of nitrogenase
enzyme is :
(A) Fe (A) Fe
(B) Mo (B) Mo
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

AG—-6003 (8) Set-A



24,

25.

26.

qIYe T 3 &1 gal F Ul ) oTel
a6 FaR foa Ry & grar 8 ?

(A) wefd yare

(B) fawmyT

(C) T ST

(D) SR T

1113 2 R e O O i S e S
SN fbd Ue Id BT BE BT AT
g7

(A) K

(B)
€ P

(D)

Mg

Ca
WE T ¥ Al @ sm@ue -
RS e & fdog 8 @, Ol I8
PE & :

(A) T 3raeeor

(B) fAfpy argwmyor

(C) T (A) 3R (B)

(D) SUYa H A Bl 7l

AG-6003

(9)

24,

25.

26.

Movement of nutrient ions takes place

from soil to plant root by which process ?

(A) Mass flow
(B) Diffusion

(©)

Root interception

(D) All of the above

Chlorosis in between the veins is the

deficiency symptom of which nutrient ?

(A) K
(B) Mg
€ P

(D) Ca

When absorption of ions takes place
against an electro-chemical gradient in

the plant, it is called :

(A) Active absorption

(B)

Passive absorption
(C) Both (A) and (B)

None of the above

(D)

Set-A



217.

28.

29.

30.

AG-6003

RT3 W AIESIse AH H dgad
@ b o5 GeHoila gIRT @ el & ?

(A) TEENTR
(B) rgSifayd
(C) e
(D) TUSIICIdaey

AGLIH UTGY UG Tl B Gol G 8 -

(A) 19

(B) 17

(C) 21

(D) 20

fAefoalRed § ¥ a9-9 59 20 95 ©
Y ¥ WA TR @ O © ?

(A) <

(B) g

(C)

(D) 5P

W&l JAdl BT qAlGd feiEd 4
forer faf & fovar <me & 2

(A) T e

(B) UGy faweryor

(C) Ul ® UG dcdl Bl BHI B et

(D) ST W

(10)

27.

28.

29.

30.

The process of conversion of ammonium
ion to nitrate ion is carried out by which
organism ?

(A) Nitrobacter

(B) Rhizobium

(C) Nitrosomonas

(D) Azotobacter

Total number of essential plant nutrients
IS :

(A) 19

(B) 17

) 21

(D) 20

Which of the following crops is not used

as green manure ?

(A) Dhaincha

(B) Sunhemp

(C) Mung

(D) Maize

Evaluation of soil fertility is done by
which method ?

(A) Solil test

(B) Plant analysis

(C) Nutrient deficiency symptoms of
plants
(D) All of the above

Set-A



31.

32.

33.

34.

AG-6003

et @ URT araRer v WY AT %
e UeRid f6d T Uiy dcdl @ 3fde

AT H]A T, HETdl &

(A) B
(B) favams

(C) I
(D) T

U Bl §q Jal T (B9 e 9
o TRy ?
(A) 25 I
(B) 15 I
(C) 5 3.
(D) 30 ¥

“A A ThTdl fhde gRT oF T ?

(A) RAH 3R w¥e
(B) Forc

(C) Tbe vd €M
(D)

S99 Hal JRAT WR & oy y&r H
efd gerel @ AT BN ARy

(A) >0.75%

(B) 0.5%0.75%

(C) <0.5%
(D) SWad # | BIS T2

(11)

31.

32.

33.

34.

A situation in which a crop requires more
of a given nutrient element without
exhibiting deficiency symptoms on plant,

is called :

(A) Deficiency
(B) Toxicity

(C) Hidden hunger

(D) Sufficiency

Soil sample should be taken at which

depth for cereal crops ?
(A) 25cm

(B) 15cm

(C) 5cm

(D) 30cm

“A value” technique was given by :

(A) Arnon and Stout
(B) Nicholas
(C) Fried and Dean

(D) Larson

For high soil fertility level the organic

matter content in soil should be :

(A) >0.75%
(B) 0.5t00.75%

(C) <0.5%
(D) None of the above

Set-A



35.  HQT STl gfawd B 35. Soil productivity is the function of :

(A) &I ST B (A) Soil fertility
(B) UM T (B) Management
(C) iefary &1 (C) Climate

(D) SWa &l (D) All of the above

36. “UT= BT UgeT slige” by dcd ol o9l A 36. “Pahla blight of sugarcane” is caused by

S 7 deficiency of which nutrient ?
(A) Mn (A) Mn
(B) Fe (B) Fe
(C) 2Zn (C) 2zn
(D) Mo (D) Mo

37. “Had H GBS doll” I fbg dcd I HH 37. “White bud of maize” disease is caused

dEare? by deficiency of which element ?
(A) Mn (A) Mn
(B) Zn B) zn
©) Fe (C) Fe
(D) Mo (D) Mo

38. WAl b9 d@ o $A & foly Fud Ui 38. Mustard used as indicator plant for

S ®U § SEIH] BT & ? deficiency of which element ?
(A) IRE (A) Boron

(B) fNid (B) zinc

© :HS?I\?FI (C) Nitrogen

(D) HIHRA (D) Phosphorus

AG—-6003 (12) Set-A



39. I HaT UREV I ATggIo Dl A

< 280 fuT/e. fowm §, @9 gg
I wR &1 fawmr 2|

(A) S

(B) WA

C) @A

(D) STda # | @IS AL

40. 1 @ @R H BRORA @ e gl
A= &Il 8 7

(A)  2.63%
(B) 1.60%
(C) 1.90%

(D) 1.30%

41, IRAT B FoIin! AT BN B
(A) 30
(B) 80
(C) 50

(D) 100

AG—-6003 (13)

39.

40.

41.

If soil test shows available nitrogen

content < 280 kg/ha., then it indicates

(A)

(B)

(©)

(D)

........ nitrogen level.

High

Medium

Low

None of the above

Phosphorus content (%) in

manure is :

(A)
(B)
(©)
(D)

The equivalent acidity of urea is :

(A)
(B)
(©)
(D)

2.63%

1.60%

1.90%

1.30%

30

80

50

100

poultry

Set-A



42.

43.

44,

45,

AG-6003

IRTS TATEH el IeRd & oIet [dgelyor
@ fory PR © 7

(A) ST L

(B) 3MHIfRIH 3ge

(C) 3IfRM Fewe

(D) e

T BT BRI H AIgeIo SUANT &Har
gl & ?

(A) 20-30%

(B) 45-60%

(C) 28-34%

(D) 42-50%

frfoed & 9 oF-a1  TRGGW
JRHD T ?

(A) T

B T T

(C) T4 dl.

(D) Suga Wl

PTdh el B He@qUl Al @ -
(A) FHE

(B) TR &I Wg

(C) & K

(D) ST W

(14)

42.

43.

44,

45.

Urease enzyme is responsible for

hydrolysis of which fertilizer ?

(A) DAP
(B) Ammonium nitrate
(C)  Ammonium sulphate

(D) Urea

What is nitrogen use efficiency in rice

crop ?

(A) 20-30%

(B) 45-60%

(C) 28-34%

(D) 42-50%

Which of the following is nitrification
inhibitor ?

(A) N-serve

(B) A.M.

(C) S.T.

(D) All of the above

Important source of organic matter is :
(A) Compost

(B) F.Y.M.

(C) Green manure

(D) All of the above

Set-A



46. 30T STd Mg daren ﬂETGﬁ ¥ I el 46. Which form of nitrogen is taken up by

— o T S w6 e 8 0 plants growing on well drainaged soil ?
(A) NO3 (A) NO3

(B) N, (B) N,

(C) NHj (C) NH

(D) SUgad JHI (D) All of the above

47. 69 fdu1 AEgoM @ gfd & foly gRa 47.  For supplying 69 kg N, how much urea

& fra W ) AravaadT B 2 will be required ?
(A) 200 fom. (A) 200 kg

(B) 100 fom. (B) 100 kg

(C) 150 foum. (C) 150 kg

(D) 50 fom. (D) 50kg

48. DY SRD LRCKI fgzor ug gfdneror 48. Central Fertilizer Quality Control and

e R Training Institute is situated at :
(A) TGS H (A) Lucknow
(B) IS H (B) Bengaluru
©) FlcH § (C) Karnataka
(D) NICEIS H (D) Faridabad

AG—-6003 (15) Set-A



49. IR 3T e b a9 o garr ? 49,

(A) 1957
(B) 1955
(C) 1986

(D) 1950

50. IR H SfpeH fbad gfiwd aggee 50.

g1 ARy ?

(A) 1%
(B) 1.5%
C) 2%

(D) 2.5%

51. Ol JaR&I Bl gars AT galg W Ul W 51

¥ B Bl fhar @l @ §

(A) o SRIT
(B) <cfu SR
(C) WIgs SRy

(D) TS ©i¥He

AG—-6003 (16)

Fertilizer control order established in

which year ?

(A)
(B)
(©)
(D)

1957

1955

1986

1950

What is maximum permissible limit of

biuret in urea ?

(A)
(B)
(®)
(D)

1%

1.5%

2%

2.5%

Spreading of solid fertilizer over the

entire field before or at sowing time is

called :

(A)

(B)

(©)

(D)

Basal dressing

Top dressing

Side dressing

Band placement

Set-A



52.

53.

54.

AG-6003

R YRGB g & fory e Biwe
@ foar ffafed & 9 5w ord @
PRI § 7

(A) HNOj,

(B) H3PO,

(C) H,S0,

(D) HCI

ol & fou onavgd ged d@l @ dedl
g

A) 4

(B) 17

) 9

(D) 8

B & IR R, =R § 9 o9-9
dal @ G WA dd b WU 4
qifiepd fdar T 8 ?

(A) Ca, Mg, S
(B) C,H O
(C) N,P, K

(D) Fe, Zn,Cu

(17)

52.

53.

54.

Single superphosphate is produced by the
reaction of rock phosphate with which of

the following acid ?

(A) HNO,
(B) H3PO,
() H,S0,

(D) HCI

Total number of essential micronutrients

for plant is :

(A) 4
(B) 17
(C) 9

(D) 8

Based on function, which of the

following elements are classified as main

structural element ?

(A) Ca Mg, S
(B) C,H,0
(C) N,P K

(D) Fe, Zn,Cu

Set-A



55. Ul H BN B WYRRY $ ol bE-| 55. Which  element  is  essential  for

translocation of sugar in plant ?
dd AGH BT § °

(A) Fe (A) Fe

(B) Mo (B) Mo

(C) B (C) B

(D) Zn (D) Zn

56. 191 # I U HaT FT 37q el & - 56.  Which of the following not a component

of soil ?

(A) FEFEG g (A) Organic matter

(B) WYt Uerd (B) Mineral matter

(C) Sl (C) Water

(D) el (D) Climate

57. GoW} fbd THAI URIE @1 U 57. Sulphur is constituent part of which

80 amino acid ?

(A)  HRRMTE (A) Methionine

(B) R (B) Cystein

(C) Rrers (C) Cystine

(D) Sugad FI (D) All of the above

AG—-6003 (18) Set-A



58. & “GRIHd UNG dw” fhad foar ?

(A) B

(B) frler
(C) Jid

(D) 3RAM

5. fipal @ U ¥ JFARAT b9 @il

T 7

(A)
(B)
(©)
(D)

1939

1950

1987

1922

60. T H DHIF-GT AT SR Tciel Bl

g7
(A)
(B)

(©)

(D)

AG-6003

NO3

NH

K+

Ca++

(19)

Term “Functional nutrient”

introduced by :

(A) Gris

(B) Nicholas

(C) Sprengel

(D) Arnon

was

When the essentiality of nickel was

discovered ?

(A) 1939
(B) 1950
(C) 1987

(D) 1922

Which ion is highly mobile in

soil ?

(A) NO3

(B) NHj

C) K*

(D) ca*™

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRAdT H U® W & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd UG foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN BT Iroid 2 |

7 & Rl U9 Ul wUrRer § =TT 89 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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